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	1.
	Check whether the relation R defined in the set { 1, 2, 3, 4, 5, 6 } as R = { (a, b): b = a + 1} is reflexive, symmetric and transitive.

	2.
	Solve for x:    
[image: image1.wmf]4

3

tan

2

tan

1

1

p

=

+

-

-

x

x

     

	3.
	Construct 3x3 matrix, when elements are given by  
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	4.
	If A is a 3x3 matrix such that |A| = 5 then what is |adjA| 

	5.
	Find the cofactor of  
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[image: image4.wmf]2

2

2

c

bc

ac

bc

b

ba

ac

ab

a

-

-

-



	6.
	Find the slope of the curve 
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	7.
	Evaluate:  
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	8.
	Show that 
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 is a solution of the differential equation  
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	9.
	Prove that 
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11.   Let  f : R – { 0 } ( f : R – { 0 }, given by 
[image: image11.wmf]()
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12.   Evaluate  
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13.   If  A is a square matrix, such that A2=A,  then find 
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14.   Find ‘x’, such that the points 
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15.   Let * be a binary operation on N given by 
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16.   Evaluate 
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17.   Evaluate 
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18.   If  
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19.   If 
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20.   Write the equation of a line parallel to the vector 
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 and passing through the point ( 5, -2, 4 ).

21.    
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22.   
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23.  
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25.   
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26.    
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27.  
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28.   
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29.  
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31.
The side of a square is increasing at the rate of 0.2 cm/sec. Find the rate of increase of the perimeter.

32.
Evaluate: [image: image37.png]x+ 1)(x + log x):
e




33.       A fair die is rolled. Let the events A= {1, 3, 5}, B = {2, 3}, C ={2, 3, 4, 5}. Find P (A|B). 

34.
The slope at any point of a curve y = f(x) is given by [image: image39.png]dy



= 3x2 and it passes through  (–1, 1). Find the equation of the curve. 

35.
Find x, y, z,      if A = [image: image41.png][+
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is a symmetric matrix. 

36.
Find |[image: image43.png]


| if a is a unit vector and ([image: image45.png]aMN@x+a)



= 15.

37.
Find  the value of [image: image47.png]T, [3 + scosx
flog 3 + ssinx dx




38.
If A and B are independent events such that P (A [image: image49.png]


B) = 0.6, P(A) = 0.2,      find P(B).

39.
If A = [image: image51.png]|



 , B = [image: image53.png]|



        ,       find 3A – 2B.

40.      
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